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All quesﬁons are comp_ulsoi'y. Attempt any fwo parts
from each question. All questions carry equal marks.
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Find inverse of given matrix A with the help of

elementary transformation, where :
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Reduce the following matrix in the normal form and

find its rank :
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Find the characteristic equation of the matrix :
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and v;efify that it iis sétis’:ﬁed by A.
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x+y+§=6
x-y+z=2
2x+y-—z=1.

Solve the following eqdations with the help of
elementary operations of matrix method :

xty+z=6
x—}+z=2
2Zx+y—z=1.
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If the sum of two roots is’ equal to third root of the

equation :
¥ +px?+gx+r=0

then prove that :

p*—4pg +8r =0.
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% —-18x-35=0
Solve the cubic by Carcion"s methoci :

x3-18x-35=0
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If 1 is the set of non-zero integers and a relation R is
defined by xRy if x¥ = y*, where x,y €1 then, is

the relation R an equivalence relation ?
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If f:X Y and A, B are two subsets of Y, then
prove that :
f7(ANB) = f1(A) N f1(B)
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Prove that the order of each subgroup of a finite

group is a divisor of the order of the group.
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Prove that if /'is a homomorphism of a group G into

group G', then kernel K of fis a normal subgroup

of G.
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State and prove the second theorem on

homomorphism.
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Prove that the intersection of two subrings is a

Prove that :

TIE—5 tan(l_loga—-ib)__ 2ab

a+ib a? -p?’

© subring.

(UNIT'—S)
(@) R n B o= Qe 8 @ Rig i

n
=]
1+ +(1-H" = 93" 0::05-’21—:‘t

If n is any positive integer, then prove that :

n
A+ +(-ir =227 cos-’:—n-

@ ar:
: tan (a + i) = x + iy
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I
tan (o + iB) = x + iy

prove that :
2 a2 & 1 . .
x* + y* + 2xcot 2a. = 1. _ | @D—2§48 ‘ 1,900
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